900
900ST-M
N= =]
7 7
o é = o
© N [Jo NN
— S S A
= =2
900ST-M
O
W~
e %] 900

900
Lo
5 @

on
(=) Lo
5 =
il i

= e GL
3

Z
¢

1E T X

1220

10
9 | BERSERI ER 1
8| B & ATV A M4 X 10
VYEEUESSIN AT VA
6 | AR -T vk | ATULR M8 X 70 8
5| NFUBE 7DC #2 VA=DIN 9
4| BEFE 7 /L3 ADC #12 9
3| Mt AR T AB063S | TILwARLER | T 20X40
2| B T AB063S | T ANMLEE | TR 20X40
1] X TR AB063S | TILwANLER | 30X30%3
No| & 4 Lz HELHE ~ % | EBE
UNIT-1160ST-L X 2
GL UNIT-900ST-M X 1

|

UNIT-900ST-MD X 1

=]
[2]8)

4 ARNTAT T 2 A

AR

STV-150

g | HhASC

4900 x 1220

i E R U2t




